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QUESTION 1

A company has purchased several ESXi hosts that contain multiple hard disks and SSD drives. Which technology will
allow the company to combine the hard disks and SSD drives into a software-based high-performance storage pool? 

A. Storage APIs 

B. VMFS 

C. Virtual SAN 

D. High Availability 

Correct Answer: B 

 

QUESTION 2

A company is evaluating the deployment of a new private cloud and the manager has concerns about the department\\'s
ability to effectively manage this new solution.Which statement represents a valid Management concern? 

A. Your solution must provide mobile tenants maximum connectivity and flexibility without requiring them to host their
own VPN services. 

B. Your solution should ensure that virtual machines are stored on the "right" storage for the job. 

C. Your solution must be able handle seasonal/burst utilization without paying for unused capacity during non-peak
months. 

D. Your solution needs the ability to roll back broken or unauthorized configuration changes to a previous known good
state. 

Correct Answer: D 

 

QUESTION 3

An administrator for a regional service provider has a predominately mobile client base. Which statement represents an
availability challenge that this administrator might face? 

A. The clientswant to work on business problems instead of worrying about always been"hands on" with their virtual
workloads. 

B. The clients need connectivity and flexibility without being required to host their own internal VPN services. 

C. The clientshave workloads in your data center and want to migrate to hosting providers in different geographical
areas. 

D. Theclients need the ability to quickly deploy preconfigured workloads on demand. 

Correct Answer: D 

 

Latest 1V0-603 Dumps | 1V0-603 VCE Dumps | 1V0-603 Study Guide                                2 / 3

https://www.pass4itsure.com/1v0-603.html
https://www.pass4itsure.com/1v0-603.html
https://www.pass4itsure.com/1v0-603.html


https://www.pass4itsure.com/1v0-603.html
2024 Latest pass4itsure 1V0-603 PDF and VCE dumps Download

QUESTION 4

Which three infrastructure platformtypes can vRealize Automation deliver service across? (Choose three.) 

A. Virtual 

B. Organization 

C. Physical 

D. Provider 

E. Cloud 

Correct Answer: ABE 

 

QUESTION 5

A customer is concerned about using fixed alarm settings to monitor elastic cloud workloads. They want assurance that
virtual workloads will be properly monitored in the cloud based on their environment\\'s realtime data. Which vRealize
Operations alarm feature will best address this concern? 

A. Auto Reactive Alarms 

B. Adaptive Alarms 

C. Self-Learning Analytics 

D. Dynamic Thresholds 

Correct Answer: B 
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